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Math 3 Final Exam Review Semester 2
Answer Section
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The domain is all real numbers except 1, and the range is all real numbers except 4.
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! There is no solution.

There is no solution.
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The maximum value is 2. The domain is all real numbers and the range is y < 2. The function is increasing to
the left of x = 0 and decreasing to the right of x = 0.

The maximum value is 2. The domain is all real numbers and the range is y < 2. The function is increasing to
the left of x = 2 and decreasing to the right of x = 2.
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